
 

10.2.21 Wed Challenges Subtraction Not Crossing 10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

Challenge 1 

Eva is calculating 17-2 and does this by counting 

backwards on a number line. 

She gets an answer of 16     

 

What mistake has Eva made?  __________________ 

 

 

 

 

 

What is the correct answer?______________________ 

 

 



 

 
Challenge 2  

The answer is 12. 

How many ways can you get to this by counting backwards on 

this number line.? 

 

Write the subtraction number sentences to show the answers. 

 

 

 


